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DrawPanel

turtleHunting : TurtleHunting
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DrawPanel()

setTurtleHunting(turtleHunting

paintComponentig : Graphics) :

initComponents() : void

: TurtleHunting) : void

void

MainFrame

turtleHunting : TurtleHunting
downButton : javax. swing.]Button
drawPanel : DrawPanel
fireButton : javax.swing.|Button
leftButton : javax. swing.|Button
rightButton : javax.swing.JButton

upButton : javax.swing.|Button

MainFrame()

initComponents() : void

upButtonActionPerformedievt : java. awt event ActionEvent) : void
downButtonActionPerformedievt : java. awt event ActionEvent) : void
leftButtonActionPerformed(evt : java.awt event ActionEvent) : void
rightButtonActionPerformed(evt : java. awt. event. ActionEvent) : void

fireButtonActionPerformedievt : java. awt event ActionEvent) : void
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Turtle

color : Color

TurtleHunting -
= turtle : Turtle -
== crosshair : Crosshair -
= shots : int —
= hits : int —
= width : int —
= height : int -
+ TurtleHunting(width : int, height : int) | —
== firel) : void +
= positionTurtleRandomlby() : void
== moveCrosshairUpl) : void
=4 moveCrosshairDown() : void =
== moveCrosshairRight() : void +
4= moveCrosshairLefti) : void +
= drawig : Graphics) : void +
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Turtle(x : int, v : int. color : Color)
drawlig : Graphics) : void
goRightidist : int) : void
golLeftidist : int) : void
golUpidist : int) : void

goDown(dist : int) : void

Crosshair

+ +

Crosshair(x : int, v : int)

draw(g : Graphics) : void




